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Attempt all questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

English version is considered to be Authentic.

Answer any seven out of ten.

Differentiate: Prime v/s Non-Prime attribute.

Explain importance of functional dependency in database design.
Differentiate: FD v/s MVD.

What is transaction log? How it is useful in transaction processing?
Write a short note on: the inconsistent retrievals problem.

What is concurrency control? How oracle controls concurrent access to data?

What is deadlock? How it can control?

Differentiate: LOOP, WHILE and FOR.

What are the different types of exceptions?

Explain Atomicity. Why it is important? Explain with example.

Explain Loosy join decomposition with suitable example.
OR
Explain Lossless join decomposition with suitable example.
Explain Third Normal Form using Examples.
OR
What is Normalization? Explain the INF and 2NF with example.
Define PL/SQL. Explain explicit cursor in PL/SQL.
OR
Define package. Write steps to create package in PL/SQL.
Explain Procedure in detail with suitable example.
OR
Explain Types of Triggers using Examples.

Explain GRANT and REVOKE commands with examples.
OR

Write a short note on: TCL commands.

Write a short note on: Cursor.
OR

What is parameterized cursor? Explain with suitable example.

Explain Optimistic methods for concurrency control.

OR
Remove any redundant functional dependencies from the following sets of
FD’s. {XY->V, ZW->V, VX->Y, W->Y, Z->X}.
What are ACID properties of database transactions? Discuss each of these
Properties in brief.

OR
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List out the types of database objects. Explain the CREATE VIEW database
Object and compare it with CREATE TABLE database object.

Write a short note on: DCL commands.

OR
Explain structure of package.
Write and explain command to create sequence with all options.

OR
Consider table Employee (eno, ename, job, hiredate, sal, commission, deptno).
Display employee details of each employee for the given deptno using explicit
cursor. (Read deptno from user).
Write a PL/SQL code block that calculate the marks of three subjects and
Display the total by firing the database trigger while inserting the marks of
Three subjects. So total should automatically calculated at the time of
Inserting marks of three subjects.
Design the database trigger to calculate the total while INSERT operation.
Table: Student (roll no, name, subl, sub2, sub3, total)

What is transaction? Explain state transition diagram.

What is Trigger? Explain the types of database trigger in short.
Explain in brief Lock Granularity.

Explain Time-stamp methods for concurrency control.
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